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Part - (2)
General Studies &
General Knowledge of State

HIT - (a)
U ST T
TS T |HHE JH

Which is not the function of CSID.C. ?

(A) to organise the investors’ meet

(B) to take part in Bharat International
Trade Fair

(C) to prepare Industrial Output Index

(D) to organise the annual state festival
in the capital of C.G.

LCA Tejas is a :

(A) Air Craft Carrier

(B) Light Combat Aircraft

(C) Supersonic Passenger Aircraft

(D) Submarine.

The Routes of National Highway 7
involves :

(@) Shivakashi

(b) Nagpur

(c) Salem

(d) Sikandarabad
(A) O, @), @ ©
® ), @ © @
©)  ®) @), @ (©
(D) (), (@), (), (d)

BAEG e TefZI STATE RN Hl
FEE T

(A) Troeml =t S TEINa &

(B) ¥R ST MR Hell § 91T @1

(C) 3Rt AR okl TIR HET
(D) SYIERIG % TSHHT § it T 3c9d
I TS HEAT

TAHT a9 © :

(A) TN STesh T

(B) TR 5o famm
(©) g At argaH
(D) TAgsst

T TSR 7 T SO S &1 AN aoh
RIEIE XU

(a) TrEerrsit

(b) TR

() waH

(d) Tow<geR
(A) (b), (a),.(d), (c)
(B) (b), (d), (©), (a)
(©) (b), (d), (a), (c)
(D) (b), (@), (), (d)
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The inventor of X-ray is :
(A) Hatin

(B) Hurble

X-ray % S ¥ :
(A) ¥ (Hatin)
(B) ®&a (Hurble)

(C) Rontgen

(D) Rutherford

Consider the following statements :

(I) German silver contains 10% of
silver.

(IT) Rolled gold contains no gold.

(A) Statement (I) and Statement (II) are
correct.

(B) Statement (I) is wrong and
Statement (II) is correct.

(C) Statement (I) is correct and
Statement (II) is wrong.

(D) Both Statements (I) and (II) are

wrong.

(C) {=SH (Rontgen)
(D) WI®HE (Rutherford)

=1 ®uAi ) fa=r S .
() e faeer §10% S S |

1) Uee Tes ¥ G T TR

(A) e (I) 92 FHF (1) T § |
(B) YA (I) ToTd § A e (II) WL € |
(C) e (1) W& § T e (II) 7T ¢

(D) & e (I) T A (1) 7T |

In which year earthquake occurred in e 'El g 7 H § o o o e ?
Gujarat ?

(A) 1999 (A) 1999

(B) 2000 (B) 2000

(C) 2001 (C) 2001

(D) 2003 (D) 2003

SPACE FOR ROUGH WORK / T® &8 & o wrg
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Who can not be recalled from his office? 7.  %IT 379 US ¥ TeATAfiq &l [ehaT ST Fohell ?
(@) Panch (a) =
(b) Sarpanch (b) THH
() Deputy Sarpanch (c) 9 HEH
(d) Vice President of Janpad Panchayat (d) SFUE YIS ST
(¢) Vice President of Zila Panchayat (e) TSIt 9= w1 SuTeAd
(A) (@ (b), (9 (A)  (a), (b), (©)
(B) (), (©), (d) (B)  (®) (©), (d)
©) (© @), (e © (9, @) (e)
(D) (@), (e) (a) (D) (d), (e} (a)
What is the rank of Chhattisgarh in 8.  ®<Ig %l ‘=™ ¥ gfaen'' & fau yra
“Ease of doing Business” in India ? R W E R e?
(A) Fourth (A) <
~ (B) Fifth (B) uiemEl
(C) Sixth (C) Baal
(D) None of above (D) SR § IS T
What is the GDP growth rate for the 9.  ¥Rd &I 3a-v[ foradt § afg W 8?2
quarter April - June for India ?
(A) 6.5% (A) 6.5%
(B) 7.4% (B) 7.4%
(C) 8.2% C) 8.2%
(D) None of above (D) S ¥ FIE &
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10. “Pavas Prasang 2018” is related to : 10. ‘‘9Ed wH 2018 "ﬁmﬁﬁ?ﬁ@ﬁﬁﬁ
€7
(A) Classical Music (A) W giid
(B) Classical Dance (B) IMEET A
(C) (A) and (B) both (C) (A) T (B) BT
(D) None of the above (D) 39U H hIg TRl

11. Which of the following is not the 11.

Legislative Power of President as per
Constitution ?

(@)

To summon the Parliament

feafafea & @ $m-d, weufa =) faurh
yifer e & STER & &7

(a) HEE MR HTA

(b) To nominate members in (b) EEG H WSH I iR A
Parliament
(¢) To assent on a bill (c) Tads W s
(d) To promulgate ordinance (d) AR SR &
(A) (a) (A) (a)
(B) (a), (b) (B) (a), (b)
©) (@), (b) () © (@, ) (0
(D) (@), (b), (c), (d) (D) (@), (b), (c), (d)
12. Which of the following Union Territory ~ 12. oh W wRuITed & dF T § foraw gon
spreads to three states ? (e 72
(A) Daman diu (A) TH €
(B) Dadra Nagar Haveli (B) TEU TR B!
(C) Pondicherry (C) vifeadt
(D) Chandigarh (D) <rTe
SPACE FOR ROUGH WORK / T% &1 & fo&l g
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13. What is correct about the Rajya Sabha ? 13. IO & fowa & wd@ F:n ¢ ?

(@) The members are elected by Single (a) eIquifaes gfaffuc gomelt & tea
Transferable voting system of HRAE A 9Gd g W g S
Proportionat Representation &1
System.

(b) Only 1/3 members of allotted seats (b) I H AEfed W H 9§ Fad 1/3
to a state are elected at a time. e U IR H ﬂ%l I

(C) All members allotted seat to a state (c) {9 I sTEfed WIHl & |+ §8&l &
are elected at a time. T T aR SIES B

(d) All members of State Legislative (d) T fauFET % GIE-9e8 a9
Assembly elect the members of F TS H T B |
Rajya Sabha.

(e) Only elected members of State () Toa faumaw & haw Feifaa ac@
Legislative Assembly can vote to T % FEE o e H 7 § Hehd
elect the members of Rajya Sabha. g

(4) @) () @ (A) @) () (d)

(B) (a) (b), (¢) (B) (), (®) (¢

©) (@), @) (@ (©) (@) (d), (e)

(D) (b), (d), (e) (D) (®) @) (e)

14. The type of Indian island in Arabian Sea  14. & ®FR % 9RA G T

is :

(A) Volcanic Island (A) SeTeTE! g9

(B) Top of Oceanic cutters (B) HEMNTOY &kl & o

(C)- Coral Reef Island (C) Yo g9

(D) Extension of main land (D) H& yft % fowr
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15. On which ground President can be  15. T anuri w wgafa & favg maifieeT e
impeached ? ST AT 7
(a) Violation of Constitution (a) wfoum =1 SeciEA
(b) Misconduct (b) T
(c) Undischarged insolvent (c) rT=ifad feenfermn
(d) Unsound mind (d) fawa faw
(A) (3 (A) (a)
(B) (a), (b) (B) (), (b)
© (@) () () © (@) ®)(©
(D) (a), (b), (c), (d) (D) (@), (b), (c), (d)
16. State Administration is found in which ~ 16. {9 Jued fod TR &1 e yonferal o
pattern of Government ? T S § 2
(A) Presidential type of Govt. (A) STHIHEH THR
(B) Parliamentary type of Govt. (B) HEEHE WER
(C) Unitary Govt. (C) THIHH THR
(D) Federal Govt. (D) HHHE HEHER
17. Which is included as Special Economic ' 17. ®<ag ¥ fasiy anfdfes sim & fovdy wnfe
Zone in Chhattisgarh ? fFarmn g ?
(A) Rajnandgaon - Solar Penal (A) TGS - Hier I9a
(B) New Raipur - Jams and Jwellery (B) I TIAY - T T A
(C) Both (C) i
(D) None of these (D) TTH @ FE &
SPACE FOR ROUGH WORK / 7% &9 & & s
Set - A 8 1280/NE-STG/RCE-E




18.

Photosynthesis occurs in : et 18.

(A)

Roots of plant

ERTST HIATOT Biell ®
(A) Y % e A

(B} Leavesofplants— By wEnduhid

19.

20.

©

(D)

Famous music-masterio of this state Raja  19.

Stems of plants

Fruits of plants

Chakradhar Singh was proficient in

playing which one of the following

musical instrument ?

(A)

Which one among the following has 20.

Sitar
Tabla
Sarod

Sarangi

highest energy ?

(A)
(B)
©)

(D)

Blue light
Red light
Green light

Yellow light

(C) YW & T H
(D) UEY & Hell |

=9 T 3 wieg T - R T e
g frfafae ¥ 9 forg e o= &1 T5H
YUE & ?
(A) TEaR
(B) el
(C) TR
(D) 9t

1 4 | ford T =i o1 waitees 2

(A) e Yo
(B) AT THT
(C) TWYH™

(D) diel ehT
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27. International Woman Entrepreneur’s 27. USRI Higen St frer w2018
Summit 2018 was held in : FaT TR gam ?
(A) Kathmandu (A) HISHITE
(B) New Delhi (B) % feeeht
(C) Hyderabad (C) TR
(D) Ahemadabad (D) STRH]ER
28. Indian Banking Association was 28. mrahé‘ﬁmmﬁmaﬁwﬁa%mw7
established in :.
(A) 1950 (A) 1950
(B) 1956 (B) 1956
(C) 1946 (©) 1946
(D) 1948 (D) 1948
29. Which of the following message was  29. 1942 % WRd SIS e F qd iefsh 3
given by Gandhiji on the eve of the Quit frafafea & | e w3 e ?
India Movement of 1942 ?
(A) Non-violence (A) afEgmr
(B) Satyagraha (B) wam®
(©) Do or die (C) HGAMH
(D) None of these (D) TH 9 HRK T
SPACE FOR ROUGH WORK / 1% &g & fot Wi
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30. The longitude of the Indian Standard  30. ¥Rd H #F® ¥9Y {5 IR | 1enfa @

Time passes through : oE T TR & S § [eRar g 2
(A) Delhi (A)feeedt —

(B) Kanpur (B) &MI

(C) Allahabad (C) IoEE

(D) Kolkata (D) ShIcTehIdl

31. In which of the following Speaker can  31. T ¥ 9 forud wftet Frviier wa =1 ol

exercise the power of Casting-vote ? T AN T Fehell § 7

() Government Bill (@) v fadew

(b) Money Bill (b) v T

(c) Finance Bill () fou fadgs

(d) Amendment Bill where 2/3 (d) wEieE fadges sl 2/3 9gHa =1ty
majority is required

(e) No-confidence motion (e) SfowaTy FETE

(f) Removal resolution against Election () T smgw & foaee =i =
Commissioner |

(g) Injoint session where a bill is under () HIF uA # wwl fadas fammoi 3
consideration |

(A) (), (b), (0), (), (8) (A) (@), (®), (), () (g)

(B) (@), ®), (). @) (8 (B) (a). (b), (), (). (g)

© (@), ©), (@) (o) ) ©) @, @ (), () 6

(D) (@), (), (), (e), (8) | (D) (a). (b), (), (), (8)

SPACE FOR ROUGH WORK / % &/ & fad g
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38. India has won : 38. A ! UREA @ 2018 H
__Gold medals, @O qEH, . T USH qe
_____ Silver medals and YT USH W g
_____ Bronze medal in Asian Games
2018
(A) 24,15,30 (A) 24,15,30
(B) 15,24, 30 (B) 15, 24, 30
(C) 15,30 24 (©) 15,30,24
(D) None of the above (D) S H HiE @l
39. Which of this expvendit\ure is charged on  39. T ¥ HF-91 WY 9Ra %! Wi g
consolidated fund of India ? IR BT § 2
(a) Salary of Speaker and Deputy (a) T SR fedt TR *T AT
Speaker
(b) Salary of Comptrdller and Auditor (b) TTEFF - TR Wi w1 A
General
(c) Salary of President (c) gl &1 S
(d) Salary of Vice President (d) Surgyfd 1 o
(A) @ ®) (© (A) (@), () (©
B ®), (), (d) (B) (b), (9), (@)
©) (© @) () © © @) @
(D) (@), (@), (b) (D) (@), @), (b)
40. The impact of green revolution was most ~ 40. BRa shifd = T Ay guE wegd fean
felt by : RIE I
(A) Rice (A) =mEd ®
(B) Wheat (B) WW
(C) Pulses (C) W™
(D) Sugar _ (D) TR T
SPACE FOR ROUGH WORK / T® & & fo& s7rg
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Part - (b) T - (b)
General Knowledge of Computer WWWW
41. Tiny droplets of coloured ink and nozzle ~ 41. T & 1 B BIe IR A9A | walfera
is associated with : 21
(A) Dot Matrix Printer (A) efe Afeam f=t
(B) Laser Printer (B) SR =t
(C) Inkjet Printer (C) Fwsie fu=t
(D) Daisy Wheel Printer (D) < = =X
42. Google was launched in the year  42. e %l 99 H @r=a e e
S o
(A) 1999 (A) 1999
(B) 1998 (B) 1998
(©)_ 1997 (© 1997
(D) 1996 (D) 1996
43. The instructions for starting the computer ~ 43. ®2T &1 Y& FA F faw gaa

are housed in
(A) RAM

(B) CD-ROM
(C) ROM Chip

(D) Floppy Disk Drive

_ HmmaaRl
(A) SRTTH

(B) HiEl- SRINTH
(C) maTA. g

(D) g fewh grEa

SPACE FOR ROUGH WORK / T% &1d & for& s
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44.

Which of the following is not a social = 44.

networking site ?

(A) Myspace

1 & o o e eatshn uise 7@ §?

(A) Myspace

45,

46.

(B) Orkut
(C) Altavista

(D) Facebook

A video consists of a sequence of 45.

(A) Frames
(B) Signals
(C) Packets

(D) Slots

convert and executes one 46.

;tatement at a time.
(A) Compiler

(B) Interpreter
(C) Converter

(D) Instructions

(B) Orkut
(C) Altavista

(D) Facebook

s fafear o
AT

% aTRY (i)

(B) foew
(C) U™

(D)

U999 T U W FI §eerd
3ir fromfea e 81

(A) HHEEER
(B) =¥
(C) =KX

(D) THgRMH

SPACE FOR ROUGH WORK / T% &9 & o sg
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47. A software used to gain administrative- 47. fHdt FFgeX & FElTR T W ‘Tgﬁ i
level access to a computer is called T o ford ST fRd ST aTer SRS
____________ %@ S
(A) _Rootkit (A) ®zfHe
(B) Bot (B) Wi
(C©) Worm (C) dm
(D) Trojan Horse (D) oA e

48. Which of the following software  48. f7= #H q HH-9 TRAR, s R
applications would be the most HifeTeia, T R & fT el wE 8 7
appropriate for performing numerical
and statistical calculations ?

(A) Database (A) TEEE

(B) Word Processor (B) o€ WEW
(C) Graphic Package (C) i Tepst
(D) Spread Sheet (D) BT ¥

49, must be connected to the 49. arffedt fiee = & fad
computer to record audio. FIRRT | HAR B =fed |
(A) Speaker (A) e
(B) Webcamera (B) TERAU
(C) Microphone (C) TTEhIHIA
(D) Scanner (D) T

SPACE FOR ROUGH WORK / T% &% & f&d <
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50. A Microsoft Windows is : 50. WEHETR faem 7
(A) Operating system (A) s fawn
(B) Graphic program (B) ifthes qram
(C) Word processor (C) =€ 9EEt
(D) Database program (D) SRHYE IuH
51. Following is the special software to create 51. Siie o &R 4 e # 9§ =i fos digesa
a job queue : g7
(A) Interpreter (A) IR
(B) Linkage editor B) forrs tfexx
(C) Spooler (C) ¥R
(D) Drive (D) Tw=aE
52. In MICR, C stands for : 52. MICR¥® C & fom 1
(A) Code (A) HIS
(B) Colour B @
(C) Computer (C) T
(D) Character (D) &EX
53. Technology which scrambles the contents 53. d&ie St foh g2 W AS Wi TRl Y
of files sent over the internet is Gt % YA €Y Dl a¢erdt §
_ et T
(A) Cryptogram (A) Fremm
(B) Encryption (B) UishwH
(C) Secret code (C) fashe FIs
(D) TCP (D) &
SPACE FOR ROUGH WORK / T® &1 & fol smie
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54.

‘To transfer electronic mail messages from  54.

TRt Ao W39 w1 UF WEH 9 gEd

one machine to another __ Hyie o TYAARG ®E & o
protocol is used. WRThieT T START TR ST § |
Ay RPC (A) RPC
(B) FTP (B) FTP
(C) SNMP (C) SNMP
(D) SMTP (D) SMTP
55. Which of the following is not an anti-virus 55. f=1 § @ S9-91 TERRE GRAER 7-[3'1‘ 2?2
software ?
(A) F-port (A) TH-UE
(B) Solaris (B) Hei™
(©) NAV © wud
(D) McAfee (D) FpTH
56. Which of the following menu types is also 56. =1 H ¥ ®H-W 77 drop down A HEeTl
' called a drop down menu ? 7?7 "
(A) Fly-out (A) -3
(B) Cascading (B) KIS
(C) Pull down ©) 94 Sr=T
(D) Pop-up (D) dU-31q

SPACE FOR ROUGH WORK / T% &9 & foi& SrTg
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57.

You can use the tab key to . 57.

(A) move a cursor across the screen

ing a p; 1
(B) indenta paragraph

tab key %l SUdNT o forg fomam
SR

(A) move a cursor across the screen

58.

59.

60.

(C) move the cursor down the screen

(D) both (A) and (B)

A word in a webpage that when clicked, 58.

opens another document is called

(B) hyperlink
(C) reference

(D) mnone of these

Which of the following is not an  59.

Operating System ?
(A) DOS

(B) Oracle

(C) UNIX -

(D) LINUX

A combination of an encryption algorithm 60.

and decryption algorithm is called a

(A) Plain text
(B) Cipher

(C©) Coding

(D) Original text

(C©) move the cursor down the screen

(D) (A) 3R (B) <l

T Jo0 § T viee | Fets & T, 9
T 3T TS Tordl € a1 39
FEd B *

(A) URL
(B) BEWfd®

(€) Tt (Hes)
(D) o ¥ T T

= o 9§ w o e fyea W@ &2

ufshar iR fefsrwr weniftem % gaem A
-

(A) W TFE

(B) HERHI

(C) =fem

(D)  ShftferTer 2w

SPACE FOR ROUGH WORK / 1% && & a8 e
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61.

Ctrl, Shift and Alt are called 61. Ctrl, Shift 3T Alt __keys ETSSIGE
keys. gl
(A) Modifier (A) TIfSHERR
(B) Function (B) THEH
(C) Alphanumeric © FERHRE
(D) Adjustment (D) TSTEHE
62. Which of the following can you use to 62. T & @ fergem SwEm Y # wige H
add times to the slides in a presentation ? T Sied % fere B § 2
(A) Slide show menu (A) RS A
(B) Rehearse timing button B) Ted et s
(C) Slide transition button (C) wIIES M s
(D)  All of the above (D) ST |l
63. It is a computer virus software 63. IE Teh hAL drad MR
. g
(A) Zika (A) o=
(B) Chikangunya B) fawi
(C) Dengue © <
(D) Melissa (D) e
SPACE FOR ROUGH WORK / TF &Td & o1& e
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64. The programs used to view webpages are 64. IS H @ F fed IR F @ T
called WUH®H R §
(A) Browsers A EIES K]
(B) Clients (B) A=A
(C) Server (C) W
(D) Protocol (D) WrRRRlA
65. A Winchester disk is also known as 65. Tarx femm =1 & w9 T st
________ ST S B |
(A) Floppy disk (A) T fewn
(B) Hard disk (B) =S fewn
(C) Compact disk (C) wMF fewp
(D) None of these (D) WK H HE &l
66. A hardware device that is capable of  66. TSN % TN I fFroufed Eﬁﬁaﬁ &
executing a sequence of instruction is e e feamrsa =i FEd
called : B!
(A) CU (A)
(B) Processor (B) W&
(C) CPU (C) widty,
(D) ALU (D) TUuAy,
67. A CD-R is also called 67. CD-R®I ot el S |
(A) WORM (A) WORM
(B) WORD (B) WORD
(© WORO (C) WORO
(D) None of these (D) T 9 =& Tl
SPACE FOR ROUGH WORK / T% &d & fol wg
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68. Printer in which head and paper is forced  68.

fa=x # ¥ 3N IR TF 9™

together to form letters is called FAYHeh &L EEIGRS
(A) Impact printer (A) T =t

(B) Non-impact printer (B) -z fiet
(C) Page printer (C) U o=

(D) Line printer (D) @A =X

69. is the process of dividing the 69.

~ disk into tracks and sectors.
éA) Tracking
(B) Formatting
(C) Crashing

(D) Allotting

70. A USB flash drive is also called 70.

(A) pen drive
(B) gigstick
(C) diskkey

(D) all of these

 gfwa @ fewp, TF SR SERX
7 fawfsa S g1

(A) g
(B) TRITATET
(C) ik
(D) TN

PRI RCEC i) I | 0
EicES ‘

(A) W gRA
(B) T =
) fe=w =i

(D) 79 9§t

SPACE FOR ROUGH WORK / % & & fdl s

1280/NE-STG/RCE-E .25
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76. Find the odd one : 76. foaum =t Ja #
@ [N\ @ [\
® |C ® |C
© |/ © |/
@) | =2 @) | =2
77. A person start from Point A and travels 77. & AR A fog @ 8 fmft =mn o= forg
8 km towards Point B which is North-east B W qé’am RED fgAw -7 | 7l
of Point A, then he travels 4 km in the svésaﬁa%ﬁ@ B % <faw &t &R 4 fem A,
South of Point B. How far away and in IE HTA | T T YRARE forg & fraen
which direction is he now from starting R Ay fora e & €2
Point ?
(A) 443 km in North (A) 43 fedt s H
(B) 443 km in East (B) 43 T @ H
(C) 45 km in North © 45 fFd@ smHA
(D) 45 km in West (D) 45 f&.f. ofem o
78.  Using the following figures find when E  78. freifha fosii &1 suaim &< 3@ #ifw fom
is at the top which letter will be at the fe E W §, @ 9 $1T 91 31eR) 3@ ?
bottom :
A A B (A7 /B /B
c|® |p|Y |&|P C ﬂ D ﬂ E |D
() A (%) A
B) C (B) C
€ F © F
(D) None of the above (D) W H | HE TEI
SPACE FOR ROUGH WORK / 1% &1 & i sy
Set - A 1280/NE-STG /RCE-E




79. If (A+C)> (B+D)and (B+C) > (A+D) 79. dR(A+C)>(B+D)3MR(B+C)>(A+D)
then it is definite that : o ffea e i
(A) B>D (A) B>D
(B) D>B () D>B
(©) C>D (C C>D
(D) A>D (D) A>D
80. Select the box thatvcan be formed by ~ 80. 3FHM (X) # & T FHAS hI AieH T

folding the sheet shown in fig (X).

et e 1 g

Z 1]
2 12
5|3 |5 3
4] 4
16 L6
X) X)
1, 7
@A) |23 A |23
1. §9%
® |33 ®B) |3)°
3 3
© |6|° © Je6|>
2 2
D) |5 |4 D |54

SPACE FOR ROUGH WORK / T & & fad wg
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81. Find out which of the answer figures 81. HFUIW 3R, aTrepfa ﬁ'@ﬁ'\qﬂﬁ‘{ﬂm

complete the figure matrix ? ‘ A &L ? '
olole s

£\

~ | |[B

O>
O

A AN

(4) (4)

® ®

© ©

®) ®)

82. Find the missing term : 82. foqa U &I A Y :

6 10 9 6 10 9

5@7 9#11 8*@? 5@}7 9#11 8—@?
4 8 7 4 8 ;

(A) 10 (A) 10

(B) 11 (B) 11

€ 12 ) 12

(D) 13 (D) 13

SPACE FOR ROUGH WORK / 1% &/ & fod smie
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33. Insert the missing number out of given 83, TG e i M fashedl & wiF |
choices :
23,29,31,37, 2 23,29,31,37, 2
(A) 38 (A) 38 _
(B) 43 (B) 43
(C) 45 (C) 45
D) 41 (D) 41
4. EG,J,L,0,Q _2 84. EG,JL,0,Q _2
(A) S (A) S
(B R (B) R
© U (C U
D) T (D) T
5. Ifinacode GO=105S0=285 thenhow 85. i fh&t Fe ugfa §# GO=105, SO =285,

RAT will be written ?
(A) 280
(B) 295
(C) 345

(D) 360

@ RAT e weR foran stm 2
(A) 280
(B) 295
(C) 345

(D) 360

SPACE FOR ROUGH WORK / {® E & fol sng

280/NE-STG/RCE-E
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86. Find the odd one out. 86. 3THTT I HilSH |

(A) Father (A) T
(B) Mother (B)
(C) Sister (C) ==A
(D) Teacher (D) STeATH

87. How many squares are there in the given ~ 87. T3 & fax (31) # fopem &i &2

figure (a) :
T
)

Figure (a) , o= (1)
(A) 13 (A) 13
(B) 16 (B) 16
€ 19 ‘ (C) 19
(D) 20 (D) 20

88. How many rectanglesin the given figures.  88. & T3 fa3 § o1 =1 Hen oot &2

|
!
| |

(A) 58 (A) 58
(B) 60 (B) 60
(C) 64 C) 64
(D) None of the above (D) W= H | HE T

SPACE FOR ROUGH WORK / W% &1d & fol sie
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89. How many triangles are thereinthegiven ~ 89. & M3 fo= & oy =t den et €2

figure :

AN AN
(A) 18 (A) 18
(B) 19 (B) 19
©) 21 €) 21
(D) 23 (D) 23

90. Ina row of boys, Mukesh is 8th from the 90. F@Eﬁ i TF Ufe ﬁ, H%FST CERS R gai &

right and Suresh is also 8t from the left. 3R g o St 3R @ gaf &1 W& qhe g
When Mukesh and Suresh interchange Y I T F STA-IGeA H A § A
their positions, Suresh becomes 16t from Qoo areft 3R A 1697 AR | Ui H £
the left. How many boys are there in the [ERERCEE TR

row ?

(A) 16 (A) 16

(B) 20 (B) 20

€ 23 C) 23

(D) 25 (D) 25

SPACE FOR ROUGH WORK / T& &8 & f&&r S8

280/ NE-STG/RCE-E 33 Set- A




Part - (d)
General Mathematics

& = .,‘77... L P £y £ L
I tIe TOOWINY [1ptre OUFA na

opposite rays. If x : y=2: 3, then x=

) 5 « 7Xx |
B O A B O A
(A) 72° (A) 72°
(B) 108° (B) 108°
€ 36° (C) 36°
(D) 63° (D) 63°
92. The cost of a cycle is¥ 2500. Every year  92. U HUEfehd sl qoI T 2500 §1 W ©
its cost is depreciated by 20%. Then its THHT & 20% HA A § 1 d9 I v
cost after three years is : HRI A g
(A) I 1000 (A) I 1000
(B) < 1250 (B) X 1250
(€) T 1280 (©) ¥ 1280
(D) None of these (D) T 9 &8 T
93. The compound interest at 5% for three 93. T ¥ [EH1 5% aNftieh ol < W o1 ©
years on the sum whose simple interest 1 R S T 1200 T O STH 5%
at 5% per annum for three years is ¥ 1200 T o 1 kgl s
is:
(A) 1251 (A) T 1251
(B) T 1261 (B) ¥ 1261
(© %1241 (€ 1241
(D) None of these (D) T 9 &% T
SPACE FOR ROUGH WORK / T®% &4 & for sre
Set- A 34 1280/NE-STG/RCE-




(55—1) Fret 3 3 ey fefera &2

94. 55-1isdivisible by : 94.
(A) 13 (A) 13
(B 31 (B) 31
© 15 (G 15
(D) 25 (D) 25
95. Two cubes each of 10 cm edge are joined 95. 10 cm YT % T T HI MU A e |
end to end. Find the surface area of the 9 YRR o1 SN F YRIT SAEA J0d B

resulting cuboid.
(A) 1000 cm?
(B) 500 cm?
(C) 600 cm?

(D) 250 cm?

4
96. While walking at gof the usual speed a  96.

man reaches 15 minutes late to his office.
His usual time consumed in walking to
office is : '

(A) 50 minutes
(B) 60 minutes
(C) 65 minutes

(D) 80 minutes

(A) 1000 9.#t.2
(B) 500 .72
(C) 600 Q.72
(D) 250 ¥.+t.2

9fs T =fqq 9=t I ) 91T & % g
G Jea § @ SR 15 fime 30 @ o €1

39 I SR agem A fera o o & 2
(A) 50 fiTe
(B) 60 faTe
(C) 65 e
(D) 80 fire

SPACE FOR ROUGH WORK / T® &1d & o wvg
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97. Every day a father picks up his child from

97. HfafeT T fidl R @ oo T2 A.FA A
school by car. One day school gets over KEASIGl %I T T et 1o Frifa sy
one hour before than every day. The child q & b gd Fe S § 1w 3 fe/wa
starts walking towards the home with a FIIEN Y SR H A TG e dai e
speed of 3 km/hr and reaches home a1 3§ f& o 3 Tl 1 o1dan 15 fire
15 minutes earlier than every day. The el TR q’é'?l a1 8, W R Hi TRRE
speed of car is : :
(A) 24 km/hr (A) 24 Fedt s
(B) 22 km/hr (B) 22 fepet/sier
(C) 21 km/hr (C) 21 femHt/en
(D) 23 km/hr (D) 23 fewdi /e

55°+45° s
98. The value of 98. 552 55x 454 45 2 RHAAE :
55° +45°
55255 45+452
(A) 100 (A) 100
(B) 105 (B) 105
(C) 125 (C) 125
(D) 75 (D) 75
99. The diameter of a roller is 1.4 m and it is 99. T UK & M 1.4 W, a4 &g 2 A T
2 m long. How much area will it roll in 5%15h (revolution) § &8 ferd &% I ®am ?
5 revolutions ?
(A) 22 m? (A) 22 2
(B) 44 m? (B) 44 #i2
(C) 66 m? (C) 66 Hi2
(D) 40 m? (D) 40 #i2
SPACE FOR ROUGH WORK / T& & & fo& wg
Set - A 36 1280/NE-STG /RCE-E




~2 % -2 :’1):
100. {}7 3} is equal to : 100. {:27 3J T :

27 27

&) 3 (4) 51

2 2

® 3 B 3

1 1

© 3 © 3

1 i

D 3 @) 3

101. In the following figure OA and OB are
opposite rays and ZAOC+ ZBOD =110°,
then ZCOD =

(A) 60°
(B) 70°
(C) 80°

(D) 90°

101. /= faxt § OA aen OB fawliq fawdi & qen
ZAOC + /BOD=110°, 98 LCOD =

(A)
(B)
©

(D)

60°

70°

80°

90°

SPACE FOR ROUGH WORK / T&% & & o8 sig

1280/NE-STG/RCE-E
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102. In the figure O is the centre of the circle 102. fgu e fo ¥ O 99+ % ¥ qM PR=QR

and PR= QR. The measure of ZPQR is: B LPQR %1 9F BT
azoo T
) Q Q -
P P ©
(A) 60° (A) 60°
(B) 45° (B) 45°
© 90° () 90°
(D) 30° (D) 30°
103. Which of the following is true ? 103. /=1 H ¥ 7 W FoH WA R?
(A) 732 — (73 )2 (A) 732 - (73)2
(B) 732 > (73 )2 ('B) 732 > (73 )2
(C) 732 < (73 )2 (C) 732 < (73)2
(D) None of these (D) T § HE T
104. In the figure given below, the diameter of ~ 104. H= § T8 Spfa H§, WdE g9 1 A€ D 2l
each circle is D. Then the diameter of BEifHd g9 H1 AW J1d

shaded circle will be :

(A) p(v2-1) (A) D2 -1)
(B) D2 +1) B) D2 +1)
© D2 +2) © D2 +2)
(D) D(2-+2) (D) D(2-+2)
SPACE FOR ROUGH-WORK / T &4 & ford s
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05

. The average of a non zero number and 105. Tt s e ot su% ot @1 siwa 5q
its square is 5 times the number. The HE&A 1 5 T § & GEm gl
number is :
- {AY29 (A) 29
(B) 17 (B) 17
<G 9 <© 9
(D) 24 (D) 24
¥ 800 amounts to ¥ 920 in 3 years at  106. 3 & § W& AN W T 800 F T 920 Frremy

simple interest. If the interest rate is
increased by 3%, it would amount to how
much ?

(A) T 992
(B) 1056
€ Ti112

(D) 1182

If the perimeter of a Rhombus is 40 cm
and one of the diagonal is of length
16 cm, then area of Rhombus will be :

(A) 72 cm?
(B) 48 cm?
(©) 96 cm?

(D) 192 cm?

€1 3 = R 3% w1 &, 7 7w
fepert 2t 2

(A) T 992
(B) T 1056
©) T 1112

(D) T 1182

107. AfS forelt Tragyst =1 uRam 40 Q.7 & qen

% ool 1 A 16 A, & A wwEgyw
1 YRl T BT 2

(A) 72972
(B) 48 Q.2
(C) 96 Qw2
(D) 192 Q.72

SPACE FOR ROUGH WORK / 1% &1 & fot g

)/NE-STG/RCE-E
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108. In the given figure, CD is a common 108. & TE WTﬁT ﬁ, CD T{?ﬁ H IS
tangent of two circles who cut each other Ty ¥ 1 S 99 T SR 1 A g B faig
at A and B. Then value of R Yfaeds & € @ ZCAD + £CBD &I °H
ZCAD + £ZCBD will be : B ?

A A
C D C D
(A) 120° (A) 120°
(B) 90° (B) 90°
(€ 140° (C) 140°
(D) 180° (D) 180°

109. An alloy of gold and silver is taken in the 109. 9 o STe) Y T Tagerg s Se oTum
ratio of 1: 2, and another alloy of the same 1:2 ¥ 991 U 379 G TG wier it g
metals is taken in the ratio of 2 : 3. How ﬁwmﬂzzgg’a}w%| 2
many parts of the two alloys must be fagengedl o fama s fon 9, fSed o
taken to obtain a new alloy consisting of T% fosurg ® @7 @ ARG 3T
gold and silver that are in the ratio 3: 5 ? 3:5%87?

(A) 3and5 (A) 3TAM5
(B) 2and9 (B) 279
(©) 2and5 (C) 27M5
(D) land5 (D) 135
110. P is a point outside a circle, whose 110. P, 99 % 9 T faig FREs @ ga d

distance from centre of circle O is 6.5 cm.
PR is a secant which meets the circle at Q
and R. If PQ= 4.5 cm, QR=3.5 cm, then
the radius of the circle will be :

(A)
(B)
©)
(D)

1.5 ecm
2 cm
25 cm

3 cm

FEOV65TM. T PR, T 9Ch € 1
#H Q ¥ R W ufa=sg #xar 1 4f
PQ= 45 41, QR=350.H. @ 9 =
v s &t 2

(A) 1594

(B) 291

(C) 2591

(D) 39

SPACE FOR ROUGH WORK / T® & & fad wrg

Set - A

40

1280/NE-STG/RCE-




Part - (e)/ 9T - (e)
General Hindi / Q= &=t

114. ‘NP Teg e s o= .
(A) IR

111.

112.

Wonefes foRen T SeRRw E

(© <

(D) ST

d= feu T Oy weE ¥ frw wse w5y
Hiy-fawsg e &2

(A) W — R+
(B) UM — IO + AT
(C) Toham — fH+ar

(D) ST=BRA — 3T+ BT

. '¥S 1 =Ie BT RTeR v e ¥

(A) W e e

(B) =gd <Al 7 femm
(C) fe@E & T

(D) 3Sudsa |t

©) f&g=
(D) e

115. 59 @ T I ¥ 31w 1€ e o< wF 7o
V&S i} T G €, S I wEd &2

(A) iy
(B) =™
(C) o=
(D) 3=

116. fCEY® 9eg 1 =AT HITAT ;
(A) Prw
(B) W
(©) =gER
(D)

117. “HreH @ | o o’ W e ¥
(A) I H T
(B) BUTE B
(C) IrauEmE
(D) 9 T & T @A

SPACE FOR ROUGH WORK / T% &1 % &) Wig
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118, SgSE TOH T I ¥

122. ‘OE 9%R g HI 90 "a F' TH TR
HA-TIATT?

(A) TR
—(B)— R (A)—Teshy Tl
HraieR
© | (B) e
(D) hreffd
(C) W Ty
119. Foigen fF¥ wed § 2 (D) &9 Tty

(A) T GYE W

(B) ITs% UM

(C) aUT % Heher &l
(D) T % HhueG TE hl

120. ‘' 9T TIR U@ T 177 3H A § TR UK
FNE?

(A) faroo
(B) WeATH
(C) Toran fardmm
(D) foam

121. ‘HY' g T ST U ¥
(A) o, T
(B) TH R, TR
(C) <M, ;=]
(D) 3Tk, T

123. foq facel fagr A 9 I=ai &l &7 &9
wrene T 9 Fag W § ?

(A) Hwad
(B) THA
(C) i o

(D) S S

124. ‘SARd0’ o fadm ®

(D) 3ma&n

SPACE FOR ROUGH WORK / T® &l & a9 sWg

Set - A
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125. S a1 *1 & % fAU T 99 B

128. Ffafea 9 @ «F-W = sifaars 9@

e ? T 72

(A) 4 (A) ™

(B) st (B) Wi

(© (C) =g

(D) Suge weft (D) 3
126.Wﬁﬁaﬁ?—mwvﬁaﬁmﬁ 129.?ﬁﬁwmw‘w'mmwﬁ

? ?

(A) T IREIY T H|
(B) TAHUTIY A W
(C) TIUY!gF R I H|

(D) 5 WA HA R IY|

127. IS 9 T :

(A) ¥R F 3= T §
(B) IR F IH M §1
(C) ¥R ¥ o™% Tm ¥
(D) ¥R % &I M T

(A) d¥rdve
(B) Hfaar
(©)

(D) wI®

130. Wifqufes ves ®9 ¥ :

(A) o firemae =1 w9
(B) R, oG HIA Mg q 971 &Y
(C) Hy, TH" %1 ®Y

(D) 3R, TH H &Y

SPACE FOR ROUGH WORK / T% &1d &% ford wig

1280/ NE-STG /RCE-E
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Part - (f) / 40 - (f 133. ‘immigrate’ is one word substitute for -
&r
General English / QAR 3AUSH (A) toofficially send somebody guilty of
a crime to a country where the
crime was committed.

131. The army is called to tackle the situation. (B) to destroy or get rid of something
The underlined word in the above that is bad or not wanted.
sentence is : (C) to come and live permanently in a
(A) Neuter gender country after leaving your own

~country.
(B) Masculine gender (D) to feel and show that you are very
(C) Common gender excited and happy.
(D) None of the above
134. Choose the sentence which best expresses
the following sentence in active voice.
132. He said to me, “I grew these carrots Was a car bought by him ?
ByEElt (A) Has he bought a car ?
Select the exprssion from the alternatives (B) Did he bought a car ?
given below that best expresses the above
sentence in indirect speech. (C) Did he buy a car ?
D he b ?
(A) He told me that he grew those (D) Does he buy a car
carrots himself.
(B) He told me I grew those carrots 135. Identify the mis-spelt word from the
myself, following :
(C) He told me that he grew these (A) accomppodate
carrots himself. (B) embarrassed
(D) He told me that he had grown those (C) vacuum
carrots himself. (D) millenium
SPACE FOR ROUGH WORK / T% &M & fed sg
Set - A 1280/NE-STG/RCE-E




Give one word substitute fbr the

142. Which of the following is most nearly 145.
similar in meaning to HINDER ? expression.
(A) lose * to remind people of an important person
or event from the past with a special
(B) loose action or object.”
A) glori
(©) despair (A) glorily
(B) celebrate
(D)  check (C) commemorate
(D) commensurate
143. Choose the incorrect sentence. v
146. Fill in the blank with the correct degree
{A) The father was very angry at his of comparison to complete the following
son. sentence.
®) I ¢ what he said This examination is than the
was very angry at w. e said.
s VERY . AnehY & other examination.
(C) This tool is quite useless to me. (A) more easy
(D) Write the exercise in ink. (B) difficult
(C) more difficult
(D) more easier
144. Select the correct alternative to complete
the follovang semtence. 147. Insert a correct preposition in the

There is more than one of
‘garage’.
(A) pronounciation

(B) pronunciation

(C) pronuncation

(D) pronauncation

following expression from the given

alternatives.

We have a holiday __
Christmas.

(A) in

(B) at

(C) on

(D) during

SPACE FOR ROUGH WORK / T% @& & fo s7ig

Set- A
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136. Choose the word which is most nearly ~ 139. Choose the appropriate conjunction from
opposite in meaning to word in capitals. the choices given to complete the
MELODIOUS following sentence.

(A) Mellifluous doing the cooking, I look after
(B) Unpleasant the garden.
(C) Spiritual (A) However
(D) Comfortable (B) Besides
(C) Evenif
137. The death is cruel. is as certain
(D) Nevertheless
as tomorrow.
Complete the above sentence by inserting
a suitable pronoun from the choices given 140, Identify the incorrect sentence.
below.
(A) My husband is doing an M.Sc. in
(A) It A o
civil engineering.
(B) She ‘ i
(B) I hope you all have an enjoyable
(C) He stay.
(D) None of the above (C) Sometimes it is difficult to live an
“honest life.
138. Many a student in our college (D) The child had been a deaf since
(a) (b) birth.
are extremely fond of the new game.
© (d)
, 141. Choose the incorrect plural form from
Which part of the above sentence has an : .
the following :
error ?
A) Tomato - tomatoes
@) @ i
(B) () (B) Dynamo - dynamos
© (o (C) Photo - photos
D) (@ (D) Piano - pianoes

SPACE FOR ROUGH WORK / T® &1 & o g

1280/ NE-STG/RCE-E
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148. Suresh asked Prasad whether he had ~ 150. Fill in the blank with an appropriate
watched the cricket match on television conjunction to complete the following
the previous night. sentence.

Out of the four alternatives suggested, I wrote a letter ~ the baby was
select the one which best expresses the sleeping.
above sentence in direct speech. )
(A) since
(A) Suresh said to Prasad, “Did you
watched the cricket match on (B) wherever
television last night ?” (C) evenif
(B) Suresh asked Prasad, “Did you (D) while
watch the cricket match on
television previous night ?”
(C) Suresh asked Prasad, “Have you -00o0-
‘watched the cricket match on
television last night ?”
(D) Suresh said to Prasad, “Did you
watch the cricket match on
television last night ?”
149. Identify the expression that best

transforms the following expression into

passive voice.
We are hiring some new employees.

(A) Some new employees are being
hired by us.

(B) Some new employees have been
hired by us.

(C) Some new employees were being

hired.

(D) Some new employees have to be
hired by us.

SPACE FOR ROUGH WORK / T% &t & fod g

1280/NE-STG/RCE-E

47

Set - A




SET - A

Y Sifma & T @R ¢ 2.30 oA } { feraray 3feh : 15(
S

Time for marking answers : 2.30 Minute Maximum Marks : 15(

e

1. 39 weR-qitaent # fier amr i
UAT - (a) WEE 31T TE T i 9H JTH - 1-40
W - (b) HFX T FH SRR - 41-70
W - () |HR HHAfHE Fer - 71-90
0T - (d) 9 T - 91-110
WAT - (¢) T &=l - 111-130
U - () A SASh - 131-150

TR UYT 1 3% 1 ¥ 1 A 150 T HA AaE 7

2. U % IW, § T OMR ST (MER-¥e) W ifha i)

3. T AT AiRRT WY W 1/4 3 I AT |

4. T ff 7@ ¥ FOFa T A el T HEEe B 1 FA aREd B

5. OMR SW-32 (3MER-¥2) 1 FAT Hd T T Ig STAEUr 7 HY/ A F08 78 e 519 =
398 Aig 1 faee onfg Te W s waesd 98 gl 8l SY |

Note :

1.  This Question Booklet consists of Parts namely :
Part - (a) General Studies & General Knowledge of State - 140
Part - (b) General Knowledge of Computer - 41-70
Part - (¢) General Mental Aptitude - 7190
Part - (d) General Mathematics - 91-110
Part - (¢) General Hindi - 111-130
Part - (f) General English - 131-150

Each question carries 1 mark. All 150 questions are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. 1/4 mark will be deducted for each wrong Answer.

4. Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrirkles.
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